
 

 

 
 
 
 
 
 

CRC – II  
MATHS SOLUTION  

 
 

176. If ratio of three numbers is 10 : 15 : 24 and their sum is 196 find the smallest 
number? 
a. 40   b. 24   c. 36   d. 49    
%d;W vz;fspd; tpfpjk; 10 : 15 : 24 kw;Wk; mjd; $l;Lj; njhif 196 vdpy; 
me;j vz;zpy; rpwpa vz;iz fhz;f.  
a. 40   b. 24   c. 36   d. 49  

 
Explanation:  
 

Let the three numbers be 10x, 15x and 24x. 
Total = 196  49x = 196 

  x = 4 

   Smallest number = 104 = 40  

 

177. Simplify : 
2 2(679 458) (679 458)

679 458

+ − −


 

a. 1   b. 2   c. 3   d. 4    

RUf;Ff: 
2 2(679 458) (679 458)

679 458

+ − −


 

a. 1   b. 2   c. 3   d. 4    
 

Explanation:  
 

Let a = 679  b = 458 

Then, 
2 2( ) ( )a b a b

ab

+ − −
 = 

2 2a b+ 2 22ab a b+ − − 2ab

ab

+
  

  = 
4ab

ab
 = 4. 

 
178. Find the difference between simple interest and compound interest on 

Rs.2,400 at 2 years-at 5% per annum compounded annually. 
a. Rs.5   b. Rs.6   c. Rs.8  d. Rs.7 



 

 

&.2>400f;F 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
jdptl;bf;Fk; cs;s tpj;jpahrk; fhz;f. 
a. &.5   b. &.6   c. &. 8  d. &.7 

 
Explanation:  
 

2

2

100

5
2400

100

6

R
D P

 
=  

 

 
=  

 

=

 

 
179. In an examination out of 480 students, 85% of the girls and 70% of the boys 

passed. How many boys appeared in the examination, if total pass percentage 
was 75%. 
a.320   b.340   c.360   d.370 
480 NgUf;F elj;jg;gl;l Nju;tpy; ngz;fs; 85% Kk;> Mz;fs; 70% Nju;r;rp 
ngw;wdu;. ,UghyUk; Nru;e;J 75% Nju;r;rp ngw;w epiyapy; Nju;T vOjpa 
nkhj;j Mz;fspd; vz;zpf;if vt;tsT. 

 
a.320   b.340   c.360   d.370 
 
Explanation: 
 

( )

Percentage of total students passed= 75%

75 480
= 360

100

70% of x + 85% of (480 - x) = 360

85 48070
360

100 100

xx


=

 −
+ =

 

70x - 85x + 40800 = 36000 
40800 - 36000 = 85x - 70x 
4800 = 15x 

4800
320

15
x = =  

 

180. If half a meter of cloth costs Rs 15. Find the cost of 
1

8
3

meters of the same  

a.200  b. 240   c. 250   d.220 

miu kPl;lu; Jzpapd; tpiy &.15 vdpy;> 
1

8
3
kP ePsKs;s Jzpapd; tpiy 

vt;tsT? 



 

 

a.200  b. 240   c. 250   d.220 
 
Explanation: 
 

 

 
 

181. One pipe can fill a tank three times as fast as another pipe. If together the two 
pipes can fill the tank in 36 minutes, then the slower pipe alone will be able to 
fill the tank in:  
a. 81 min.   b. 108 min    c. 144 min    d. 192 min.  
xU FohahdJ kw;nwhU Fohiag; Nghy 3 klq;F Ntfkhf epug;Gk;> 
,t;tpuz;L Foha;fSk; Nrh;e;J 36 epkplj;jpy; xU njhl;bia epug;GfpwJ vdpy;> 
nkJthf epug;Gk; Foha; jdpahf mj;njhl;bia epug;g vLj;Jf;nfhs;Sk; Neuk; 
vt;tsT?  
a. 81 epkplq;fs;  b. 108 epkplq;fs;  c.144 epkplq;fs;   d. 192 epkplq;fs; 

 
Explanation: 

 
1 3 1

36

4 1

36

144min.

x x

x

x

+ =

=

=

 

 
182. Imran deposits ` 400 per month in a post office as R.D. for 2 years. If the rate 

of interest is 12%, find the amount he will receive at the end of 2 years. 
a. 9,600    b. 10,800   c. 1,200   d.10,000 
,k;uhd; Xu; mQ;ryfj;jpy; 12% tl;bapy; xt;nthU khjKk; &.400 I 2 
Mz;LfSf;F njhlh; itg;Gj; njhifahf  (R.D) nrYj;jp te;jhu;. ,uz;L 
Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; Kjpu;Tj;njhifiaf; fhzTk;. 
a. 9,600    b. 10,800   c. 1,200   d.10,000 



 

 

 
Explanation: 

 
Amount deposited every month =P=Rs. 400 
T = 2 years = 24 months 
Rate(R) of interest =12% 

 
 

183. 40% of the population of a town are men and 35% are women. If the number 
of children are 20000, then the number of men will be : 
a. 3200   b. 80000   c. 32000   d. 320000 
xU efuj;jpd; kf;fs; njhifapy; 40% Ngh; Mz;fs;> 35% Ngh; ngz;fs;> 
rpWth;fspd; vz;zpf;if 20,000 vdpy;> me;efuj;jpYs;s Mz;fspd; 
vz;zpf;if vt;tsT? 
a. 3200   b. 80000   c. 32000   d. 320000 
 
Explanation: 

 

 



 

 

 
184. Find the G.C.D of a3 – 1 and a2 – 1 

a. a2 – 1   b. a + 1   c. a3 – 1   d. a – 1 

a3 – 1 kw;Wk; a2 – 1d; kP.ngh.t fhz;f 
a. a2 – 1   b. a + 1   c. a3 – 1   d. a – 1 

 
Explanation: 

 
a3 – 1 = (a - 1) (a2 + a + 1) 
a2 – 1 = (a + 1) (a - 1) 
G.C.D = a – 1 

 
185. A flood relief camp has food stock by which 80 people can be benefited for 60 

days. After 10days 20 more people have joined the camp. Calculate the 
number of days of food shortage due to the addition of 20 more people?  
a. 50days   b. 10 days   c. 40 days   d. 5days 
xU nts;s epthuz Kfhkpy; 80 egu;fSf;Fj; Njitahd czT 60 
ehl;fSf;Fg; NghJkhdjhf cs;sJ. 10 ehl;fSf;Fg; gpd;du; NkYk; 20 
egu;fs; me;j Kfhkpy; te;J Nru;e;jhu;fs; vdpy;> vj;jid ehl;fSf;F czT 
jl;Lg;ghL Vw;gLk;. 
a. 50 ehl;fs;   b. 10 ehl;fs;   c. 40 ehl;fs;   d. 5 ehl;fs; 

 
Explanation: 
 

80 50 100

80 50

100

40

x

x

x

 = 


=

=

 

Remaining food is to be used for 50 days.   
But it only last for 40 days.   
No. of days shortage = 50 – 40 = 10 days.  
∴ 10 days of food shortage due to the addition of 20 more people 

  
186. If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8 

respectively then the sum of the ages of son and father in 2010 is  
a. 42   b. 43    c. 50    d. 45  
2014 kw;Wk; 2022 Mz;L kfd; kw;Wk; je;ij MfpNahhpd; taJfspd; 
tpfpjq;fs; KiwNa 1:4 kw;Wk; 3:8 vdpy; 2010 Mk; Mz;L kfd; kw;Wk; 
je;ij MfpNahhpd; taJfspd; $Ljy;. 
 a. 42   b. 43    c. 50    d. 45 

 
Explanation: 
 



 

 

In 2014 Son & Father ages be x and 4x. 
8 3

4 8 8

8 64 12 24

4 40

10

x

x

x x

x

x

+
=

+

+ = +

=

=

 

∴ In 2010 Son’s age = 6 and Father’s age = 36 
Sum of their ages = 42 

 

187. Simplify: 
( ) ( )

( )

2 3
3 2

2
4 4 2

3 2

2 3 4

− −

−
− −



 
 

a. 
1

7
9

  b. 
1

7
8

   c. 
2

6
9

    d.
3

6
8

 

 

RUf;Ff: 
( ) ( )

( )

2 3
3 2

2
4 4 2

3 2

2 3 4

− −

−
− −



 
 

a. 
1

7
9

  b. 
1

7
8

   c. 
2

6
9

    d.
3

6
8

 

 
Explanation: 

 
6 6

8 4 4

12 4 6

6 6 2

3 2

2 3 2

2 3 2

2 3 3

64 1
7

9 9

− −

− − −


=

 


= =



= =

 

 

188. Find the CI on ₹ 15000 for 3 years, if the rate of interest are 15%, 20% and 25% 
for I, II and III years respectively. 

a. ₹ 9,875  b. ₹ 10,875  c. ₹ 12,875   d. ₹ 11,875 
I> II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 

25% vdpy; ₹ 15000 f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 

a. ₹ 9,875  b. ₹ 10,875  c. ₹ 12,875   d. ₹ 11,875 
 
Explanation: 

 

A = 1 1 1
100 100 100

a b c
P
   
+ + +   

   
 

    = 15000 
15 20 25

1 1 1
100 100 100

   
+ + +   

   
 



 

 

    = 
115 120 125

15000
100 100 100

    = Rs. 25875 

     C.I = A – P = 25875 – 25000 = Rs. 10875 
 

189. A person takes a loan of ì 10000 partly from a bank at 8% per annum and 
remaining from another bank at 10% per annum. He pays a total interest of ` 
950 per annum. Amount of loan taken from the first bank (in ì) is  
a. 2500   b. 5200    c. 2050   d. 5020  
xU egh; &.10>000I fldhfg; ngWfpwhh;. mjpy; xU gFjpia Mz;Lf;F 8 
tpOf;fhL vd;w tPjj;jpy; xU tq;fpapypUe;Jk;> kPjpj; njhifia ,d;ndhU 
tq;fpapypUe;Jk; 10% fldhfg; ngWfpwhh;. ,t;tpuz;L fld;fSf;Fk; Mz;Lf;F 
nkhj;j tl;bahf &.950 nrYj;Jfpwhh; vdpy; mth; Kjy; tq;fpapypUe;J ngw;w 
fld; njhif vt;tsT &gha;?  
a. 2500    b. 5200    c. 2050   d. 5020  
Explanation: 

 
 

 
50 :150

1:3

1
10000 2500

4
=  =

 

 
190. A can finish a job in 20 days and B can complete it in 30 days. They work 

together and finish the job. If Rs. 600 is paid as wages, find the share of each. 
a. A=Rs. 360, B= Rs. 240   b. A=Rs. 480, B= Rs. 120 
c. A=Rs. 400, B= Rs. 200   d. A=Rs. 240, B= Rs. 360 
A xU Ntiyia 20 ehl;fspYk;> mNj Ntiyia B 30 ehl;fspYk; Kbg;gh;. 
,UtUk; Nrh;e;J Ntiy nra;J> mt;Ntiyia Kbj;J 600I jq;fs; 
tUthahfg; ngw;wdh; vdpy; mth;fs; xt;nthUtUk; ngWk; njhif vt;tsT? 
a. A=Rs. 360, B= Rs. 240   b. A=Rs. 480, B= Rs. 120  
c. A=Rs. 400, B= Rs. 200   d. A=Rs. 240, B= Rs. 360 
 
Explanation: 
 



 

 

Time taken by A = 20 days 
1

Work done by A in 1 day = 
20

Time taken by B = 30 days

1
Work done by B in 1 day = 

30

Wages = 600

1 1
Ratio of work done by A & B in 1-day = : 3 : 2

20 30

So. The ratio of the wages will be 3:2

3x + 2x = 600

5x = 

=

600

X = 120

A's wage = 3x = 3 × 120 = 360

B's wage = 2x = 2 × 120 = 240

 

 

191. A fruit vendor bought some mangoes of which 10% were rotten. He sold 
1

33
3

 

% of the rest. Find the total number of mangoes bought by him initially, if he 
still has 240 mangoes with him. 
a. 400   b. 300   c. 350    d. 380 
xU go tpahghup thq;fpa khk;goq;fspy; 10% mOfpapUe;jd. kPjKs;stw;wpy; 

1
33

3
 % khk;goq;fis tpw;Wtpl;lhu;. jw;NghJ 240 khk;goq;fs; mtuplk; 

,Uf;fpd;wd vdpy;> Kjypy; mtu; thq;fpa nkhj;j khk;goq;fspd; 
vz;zpf;ifiaf; fhz;f. 
a. 400   b. 300   c. 350    d. 380 
 
Explanation: 

 

Number of rotten mangoes = 
10

100

x
 

Number of good mangoes 
10 90

100 100
x x x= − =  

Mangoes sold 
100 90 1 30

3 100 100 100

x
=   =  

90 30
240

100 100

60
240

100

400

x x

x

x

− =

=

=

 

 



 

 

192. The average weight of A, B, C is 45 kg. If the average weight of A and B be 
40kg and that of B and C 43 kg, then the weight of B is:  
a. 17kg   b. 20kg   c. 26kg   d. 31kg  
A, B, C, d; ruhrhp vil 45fp.fp. A kw;Wk; B apd; ruhrhp vil 40 fp.fp. B 
kw;Wk; C apd; ruhrhp vil 43fp.fp> vdpy; B apd; vil ahJ?  
a. 17 fp.fp.  b. 20 fp.fp.  c. 26 fp.fp.  d. 31 fp.fp. 
 
Explanation: 

 
Let A, B, C represent their respective weights. Then, we have: 
A + B + C = (45 x 3) = 135.... (i) 
A + B = (40 x 2) = 80.... (ii) 
B + C = (43 x 2) = 86.... (iii) 
Adding (ii) and (iii), we get: A + 2B + C = 166.... (iv) 
Subtracting (i) from (iv), we get: B = 31. 

 B's weight = 31 kg. 
 
 

193. The profit earned by a book seller by selling a book at a profit of 5% is Rs. 15 
more than when he sells it at a loss of 5%. Find the cost price of the book.  
a. Rs. 100   b. Rs. 150   c. 200   d. 160  
xU Gj;jf tpw;gidahsh; xU Gj;jfj;ij 5 rjtPj ,yhgj;jpy; tpw;gid 
nra;tjhy; fpilf;Fk; ,yhgk;> mth; me;jg; Gj;jfj;ij 5 rjtPj el;lj;jpw;F 
tpw;gid nra;tjhy; fpilf;Fk; el;lj;ij tpl &.15 mjpfk;. me;jg; Gj;jfj;jpd; 
mlf;f tpiyiaf; fz;Lgpbf;fTk;.  
a. Rs. 100   b. Rs. 150   c. 200   d. 160 

 
Explanation: 

 
Suppose the CP of the book = Rs. 100 
Profit =5% 
SP = 100+5 = Rs. 105 
Loss =5% 
SP = CP − loss = 100−5 = Rs. 95 
= 105−95 = Rs. 10 
If the difference = Rs. 10, then CP = Rs. 100 

If the difference = Rs. 15, then CP = 
100

15 150
10

 =  

 
 

194. Find the L.C.M of (x3 – 27), (x – 3)2, (x2 – 9) 
a. (x – 3)2 (x + 3) (x2 +3x + 9)   b. (x – 3)2 (x + 3)  



 

 

c. (x + 3)2 (x - 3)     d. (x + 3) (x2 +3x + 9)  
kP.rp.k. fhz;f: (x3 – 27), (x – 3)2, (x2 – 9) 
a. (x – 3)2 (x + 3) (x2 +3x + 9)  b. (x – 3)2 (x + 3) 
c. (x + 3)2 (x - 3)    d. (x + 3) (x2 +3x + 9)  
 
Explanation: 
 

 
 

195. The traffic lights at three different road crossings change after every 60 sec, 84 
sec. and 96 seconds respectively. If they all change simultaneously at 10:20:00 
hrs, then at what time they will again change simultaneously?  
a. 11:26:00   b. 11:16:00   c. 11:20:16   d. 11:00:16  
%d;W NtWgl;l njU Kidfspy; cs;s Nghf;Ftuj;J rpf;dy; tpsf;Ffs; 
KiwNa 60> 84> 96 tpdhbfspy; rpf;dy; khWfpd;wd. ,J %d;Wk; 10.20.00 
vd;w kzpfs; xd;W Nghy khWk; vdpy; kWKiw ve;j kzpNeuj;jpy; %d;Wk; 
xd;W Nghy khWk; vd fzf;fpLf.  
a. 11:26:00   b. 11:16:00   c. 11:20:16   d. 11:00:16 
 
Explanation: 
 

 
LCM = 2 x 2 x 3 x 5 x 7 x 8 
LCM = 3360 
3360 seconds = 56 minutes.  
Thus, the three lights will change simultaneously again after 10:20:00 
at 11:16:00. 

 
196. The sum of the present ages of a father and his son is 60 years. Six years ago, 

father‘s age was five times the age of the son. After 6 years, what is the son‘s 
age?  
a. 12 years   b. 14 years   c. 18 years   d. 20 years  
je;ij kw;Wk; kfdpd; jw;Nghija taJfspd; $Ljy; 60 tUlq;fs;. 6 
tUlq;fSf;F Kd;G> je;ijapd; taJ kfdpd; taijg; Nghy; 5 klq;F vdpy; 
6 tUlq;fSf;Fg; gpwF kfdpd; taJ vd;d?  
a. 12 tUlq;fs;  b. 14 tUlq;fs;  c. 18 tUlq;fs;  d. 20 tUlq;fs; 

 



 

 

Explanation: 
 

Let the present ages of son and father be x and (60 -x) years respectively. 
Then, (60 - x) - 6 = 5(x - 6) 
⇒ 54 - x = 5x - 30 
⇒ 6x = 84 
⇒ x = 14 
∴ Son's age after 6 years = (x + 6) = 20 years. 

 

197. If 
a b b c c a

k
c a b

+ + +
= = = , then the value of k is  

a. 0    b. 1    c. 2    d. a+b+c 
a b b c c a

k
c a b

+ + +
= = = vdpy; k d; kjpg;G 

a. 0    b. 1    c. 2    d. a+b+c 
Explanation: 
 

a + b = ck --- (1) 
b + c = ak ---- (2) 
c + a = bk----- (3) 
2 (a+b+c) = k (a+b+c) 
K = 2  

 
198. If numerator of fraction is increased by 20% and the denominator is decreased 

by 5%, the value of the new fraction becomes 
5

2
. The original fraction is: 

a. 
24

19
    b. 

3

18
   c. 

95

48
   d. 

48

95  
xU gpd;dj;jpd; njhFjp 20 rjtPjk; mjpfhpf;fg;gLfpwJ. mNj rkak; 
mjDila gFjp 5 rjtPjk; Fiwf;fg;gLfpwJ.  me;jg; Gjpa gpd;dj;jpd; 

kjpg;G 
5

2
MFk;.  vdpy;> %y gpd;dk;   

a. 
24

19
    b. 

3

18
   c. 

95

48
   d. 

48

95  
Explanation: 
 

Let the fraction 
x

y
=  



 

 

120 5

95 2

5 95

2 120

95

48

x

y

x

y

x

y


=




=



=

 

 
199. In an interschool atheletic meet, with 24 individual events, securing a total of 

56 points, a first place secures 5 points, a second place secures 3 points, and a 
third place secures 1 point. Having as many third place finishers as first and 
second place finishers, find how many athelets finished in each place.  
a. 5, 7, 12  b. 12, 4, 8  c. 4, 8, 12  d. 7,5,12 
gs;spfSf;fpilNaahd xU jlfsg; Nghl;bapy;> 24 jdpegu; Nghl;bfspy; 
xl;Lnkhj;jkhf 56 Gs;spfs; xJf;fg;gl;Ls;sJ. Kjyplk;   ngWgtUf;F 5 
Gs;spfSk;> ,uz;lhk; ,lk; ngWgtUf;F 3 Gs;spfSk;> %d;whkplk; 
ngWgtUf;F 1 Gs;spAk; mspf;fg;gLk;. %d;whkplk; ngw;wtu;fspd; vz;zpf;if 
Kjy; kw;Wk; ,uz;lhk; ,lq;fisg; gpbj;jtu;fspd; vz;zpf;ifapd; 
$LjYf;Fr; rkk; vdpy;> Kjy;> ,uz;lhk; kw;Wk; %d;whkplk; ngw;wtu;fspd; 
vz;zpf;ifiaf; fhz;f. 
a. 5, 7, 12  b. 12, 4, 8  c. 4, 8, 12  d. 7,5,12 
 
Explanation: 

 
x + y + z = 24 …(1)   5x + 3y + z= 56  …(2) x+y = z…(3) 
Substituting (3) in (1) we get, gives, z+z = 24 
Z= 12 
Therefore, (3) equation will be, x + y = 12 
(2) – 3 (3) 

5x + 3y = 44 
3x + 3y = 36 
2x    =  8  

we get, x = 4  
Substituting x = 4, z = 12 in (3) we get y = 12 – 4 = 8 
Therefore, Number of first, second and third place finishers 4, 8, and 12  

 

200. Find the LCM of 
2 3 4

, ,
3 5 7

 and 
9

13
 

a. 
1

36
   b. 

1

1365
  c. 

12

455
   d. 36    

2 3 4
, ,

3 5 7
 kw;Wk; 

9

13
 d; kP.ngh.k. itf; fz;Lgpb.  

a. 
1

36
   b. 

1

1365
  c. 

12

455
   d. 36   



 

 

Explanation: 
 

LCM of 2, 3, 4, 9

HCF of 3, 5, 7, 13

LCM = 2 x 3 x 2 x 3 = 36

HCF = 1

36
36

1
=

 


